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p ; -mﬁ@qﬁm'mﬁ‘@’ﬂq—mmﬁ

(B) deuar==
(A) WHaOrEsh

© ‘o @) eFEES
(E) srgafa s
2 Frafafes & sifrarses ga o s e
(A) feorar il
© # L
(E) sgafaasm
3 R gem i
Aa) A ®B) =
~0O) = D) 3
(B) STafa o
4  Down’s syndrome is caused due to trisomy of -
(A) Chromosome 11 (B) Chromosome 21
(C) Chromosome 0] (D) Chromosome 14
(B)  Question not attempted
TR & USTIIREAT 5 ey gy 2,
(A) TR 11 (B) Trgr2)
© Tl (D)  Tor 14
() sroiaws
S Outofthe fo llowing which contrasting character Was not selected by Mendel for his hybridizat on experiments
on garden pea?
(A) Colour of flower (B) Colour of seed
©)  Position of flower (D)  Shape of root
)  Question not attempted
TR R it 3, 7 (A o) Wi gry m?rmmhrﬁﬁmhﬂﬁ%mmm
@) grErar ®B) HSwor
© T oy D) S R
®)  srehe s
: ich of the following is not a reason to produce transgenic animals?
A) 1o test toxicity safe—t;— (B)  To make somatic hybrids
© Obtain biological products

(D) To study how £enes are regulateq
€S

®  Qu
Wﬁéﬂqmm@g@;ﬁﬁ;@ﬁwaﬁﬁwmﬁ@ |

(A) — 5y (B) I T ¥ fyw

© e ;m m“;‘“ﬁq‘“ ) Gﬂqﬁﬁﬁﬁaﬁmaﬁimmmﬁ%m

tion not attempted

[P.T.O.
2
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Which of the following pyramid’s is/ are never inverted?

(A) Pyramid of biomass (B) Pyramid of energy
(C) Pyramid of number ) (D) Pyramids of biomass and number ¢y
(E)  Question not attempp "
Freaferfia 3 & 2 & fferg gt oft sord e i 87 pu
(A) i (aTEmTE) Fe (B) il o ffire g
C) wemmfRfis O (D) Sfawmr i den % fifie ol
(B) et f:i o
8 Which of the following directive principles in Indian Constitution requires the state to orgatiize village
panchayats and endow them with necessary powers to enable them to function as units of Self Government.?
(A) Article 38 ™ (B) Article 39 '8
(C) Article 40 M (D) Article 42 )
(E) Question not attemRtsd H}
WA o wferam # FrfaRags) & fra e fagia & @nmﬁmﬁmwwaﬁﬁaﬂg%m
< 38 & F7 @ A 1 G T % [0 ey 91ih WeH T 27 o
(A) =< 38 g (B) IgewE39 o
(C) FT=T40 (D) WFT=Ba42 v
(B) Igaf@uy.
9  Whichofthe following Coptpittee suggested the incorporation of eight fundamental duties in the/@bnstitution
of India. i g
(A) Verma Committee g (B) Swaran Singh Committee )
(C) Dutta Committee (N (D) Gokhale Committee =)
(E) Question not attem;r&l N
Forer i 2 v i 3 T SR ST A e AR S A e
@) TR o (B) i fife witfe
(C) ewmrafafa M (D) @S wftfa ™
(E) 3raia sy Ty M
10  Who was the Chief draftsfiian of the Indian Constitution in the Constituent Assembly? (Chocns the most
appropriate option from bélow:) :
(A) SirB.N.Rao N (B) H.V.R.Iyengar f‘!
(C) S.N.Mukherjee (¥ (D) Prem Behari Narain ’,}:
(E) Question not anempﬁh :*!
i g & e 3 eI e ST A A7 (Rt & vl s e gy
(A) WA ) (B) U= 3R AR
€) T Es ™ (D) I forer smre ™
(E) srafeawy L fg
11 feffa g + 3w Hg e
(A) Hfw o ~B)- g
©) w& N (D) i
(E) smf@ws L
P12] © 3
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2
12 frefafaa J 7= aeqey 99 =1 v Ieretr

e (B) 9l
A)
fc) Ll D) A==
(E) 37t war
13 ‘<afaw § 9 |91 aam
A) i %) Wm@
© wgife M
E) et v
14 Which of the following is the highest peak of Aravali range in Rajasthan?
(A)  Ser (B)  Gurushikhar
(C) Dilwara (D)  Rishikesh
(E) Question not attempted
LR Wﬁmﬁamwm?ﬂrﬁmﬁ?m%?
A W; ®) T
© feemre D) =iy
E) iy
1S Khetg Bansya] Conservatlon Teserve is situateq in which of the follomng place of Rajasthan?
(A) Jhunjhuny B) Kota :
(©) Bhilwara D) Ajmer
(E) Question not altempted
@wmwmmﬂmﬁaﬁmamwmm
A ®)  Frey
(©) iemmer M) g
(E)  sryaf yy
16 Which is the longcstriverofRajasthan?
(A) Mansi (B) Xal Sindh
© Parvatj : (D) Chamba]
(E) Question not attempteq
TSR 6 ey ey T Ft 2y
(A)— wrrefy (B)  wreh Ry
©) o D) =g
®) ey
17 Chitrashala Art Gallery is Sttuated in whicp of the following place?
A) Jaipur (B) Kota
©)  Bungi (D) Bikaner '
(B) Question not attempteg
e ﬁ@fﬁmmﬁf@m%?
(A)
o (B) ey
(E) A uy ) e
P12 © 4
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18  What is the rank of Rajasthan in milk production in India during 2022-23?
(A) Second (B) First
(C) Third (D) Fourth
(E) Question not attempted
af 2022-23 ¥ STHR T TG § TSTEAH T I H1 §1 T4 87

(Ay— g8 (B) 9&T
(©) | (D) e
(B) gaf@ws

19  Which part of ashvagandha plant is mainly used to make medicines?
(A) Leaves (B) roots
(C) flowers (D) pollen grains

(E) Question not attempted

srarriaT 91 3 fra T S 2ardat s a6 forg g s s 2

(a) fwat w) 8
© T« : (D) WROAT - T
(E) 3Igafawd

20  Which of the following is not an application of Blood group inheritance? (Choose the most appropriate
option)
(A) Solution of parental disputes.
(B) Treatment of neonatal blood hemolysis.
(C) Treatment of hereditary disorders, like hemophilia.
(D) Treatment of infection of HIV-1 and HIV-2.

(E) Question not attempted

frrferaa § & @ IR - ot ST T ST e & - (e Sfra ferehew 1w )

(A) e foamet &1 FHTH (B) TaTq s femifertas & Ig=m
©) fedfefmar 3@ sraiftes fFRi MK (D) HIV-1 3 HIV-2 HFH0T HI ITR
(B) uiawd
21  Successions that occur on soils or areas which have recently lost their community are referred to as -
(A) Primary succession (B) Secondary succession
(C) Lithoseres (D) Priseres

(E) Question not attempted

'é‘rmﬁwwméﬁﬁmﬁmﬁ%ﬁmﬁﬁmﬁmﬁ@w%mﬁ@ﬁhﬁ%%-

(A)  TefireR ST B) et srgeam
(C) Heruh (D) STEwuE
(E) gufta w4

P12] © 5
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22 P +Qmeans P is the brother of Q
P x Q means P is the moﬂ'l?l;' ?f Q

ov
P —Q means P is the son of Q ("’;:
P = Q means P is the husband of Q i‘f"
Which of the following inciigétes that “A is the nephew of U*? ti_‘}'
P+ QA i, QR | 4
PxQWW%ﬁEP,Qﬁ%ﬁT% f;;:j
P fF P, Qw g d ™~
P+Q Framri 2 fip p, Q Fufyd

8 T a3 A, U v -

it * K +H+Ugy (B) A+NxKxH-U i"";
©) A—N—KxH+U?3":; D) A+N+KxH=U N
(E) - Question not attemp_tgd / rFafE vy £y

23 Armangethe following WQré:ié_ ‘asin dictionary and then {j‘

N IV. MABEPEARL
e ﬂgpmprmﬁ answer from the options given below: "
@A) ITI{ A, | “ail% 3"3*‘6?!?*7%111?% (e
——— £ (B) - 11, 1, 1, v md,
(C) I, IV, m i m (D) m . B Q
(BE)  Question not anemp% I SrafE ,IL T, T )
24 Choose the most q e z i
i PProprigie option to fill in the blani, ™
1ta didn’t see me Wave to her. She . : i |

(A) islooking oy mthe other direction,

(©)  was looking m (B) - looked M
(E)  Question not attemptey (D)  hasbeen looking ™
25  Choose the most appro £y - 2
- p "iﬂ!e (4] t 1 T
The accident victim ‘:‘a bl; ::: t.° fill in the blanks: ‘:’l
(A) was dead, msh—ﬁ time they ——— himto the hospital, )
(C©) was dying, rusheq _: (B)  had died, had rushed ({:1
(E) Question not attem;te:i D)  will be dead, have rushed "‘“i

26  Choose the passive form of the g,

ntence given,
A thief stole my dog and bréllght

back only whep 1

- i ‘
Chovss thwiost appropriate opticy, ffered ¥ 5000 reward for him, (¥}

from below: ™
(A) My dog was stolen:apd brought back L

only when a 2 5000 reward ffered.
(B) Ioffered a T 5000 reward for the thie a < 5000 reward was offere. ()

food d fonly then my dog was brought back. Oy
(C)  Only when I offered a reward of g 5000, My dog which was stolen brought 1:1:1::1{.0q

i k) i A
(D) A thief brought ba(.‘;k my dog Which he Stole when I offered a reward of ¥ 5000. t'\;
(E)  Question not attempted
P12] © 6 [ P.T.O.
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27  Choose the word most similar in meaning to :

PROSCRIBE
(A) Prohibit (B) Permit
(C) Appease (D) Prolong

(E) Question not attempted
28 IBM system/360 is an example of which of the following?

(A) Second Generation Computer (B) Fourth Generation Computer
(C) Third Generation Computer (D) First Generation Computer
(E) Question not attempted '
Tt yomret/360 ey 7 & fomeent Seretor @2
(A) THUE T FFR (B) e ST SHPgEX

LO). U T FR . (D) W AW S
(E) gafauy

29  Which of the following unit of the processor monitors and gives proper instructions to all parts of the

computer?
(A) Memory unit (B)  Control unit
(C) Input unit T (D) * Arithmetic and logic unit

(E) Question not attempted

S e 32 -l e e ey e o P et & e ¥ s e et 2

(A) Wi gfe | (®) eI
© wRIE (D)  ferfes e st g
(E) TIaf@yx
30  Which of the following is a fat-soluble vitamin?
(A) Vitamin A (B) Vitamin Bg
(C) VitaminC (D) Vitamin B,
(E) Question not attempted :
@ o ar fefm aar gamﬂ?r%‘?
(A) ffmA pe— (B) Tl B,
© fafmc ¥ (D) fEIfEB,
(B) IuRa v
31 TUPAC name for the following compound is :
CH;, ~
e C=CH,
(A) 1-Butene (B) 2- Propyl-1-methane
(C) 2-Methyl-1-propene : (D) 2-Pentene
(E) Question not attempted

= fore 7w A FT IUPAC T #:

CH;
. "
<K —_ C=CH, |
q'g. (A) 1- E‘Eﬂ? (Butene) (B) 2-9NES (Propyl) -1 - e (Methane)
(©)—=2- afaer (Methyl) -1 - A (Propene) (D) 2 -Y=IH (Pentene)
(E) rgaf@wa

P12] © 7

[ P.T.O.
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32 The most stable ‘Fullerene’ is -

f A) ¢ M B)  Cao M,

_ © Ce {i-.?; (D) Cy :;:
s (E) Questiofimot attempted / 33!3?1‘&?[ T o
‘ 33 Which of the fdilowing is correct in regards to RAM? o

(A)  non-vol: ;":Ie, temporary
©) volatile, permanent
(E)  Question not attempted

(B) volatile, tenipdrary

(D) non—volatile?ﬁjennanent
e

h%mﬁﬁ%ﬁ%aﬁqm@
o = a8y
(A) mmt-"‘igga%miﬂ (B) diclersa, 2
Q) Sk i (D) - a‘iémgztmﬁQ
(B)  sryafays
; L ©
34 Avalid fonnuﬁ};‘?n Excel begins with - ()
e 0 4% ke i e X
Aa) + s B) = fN
© # - ® e
(E)  Questidi hot attempted / S war
35  The design tha €gulate the Iayou: d fi i e ] M
o Designég, - andformatting for the slides 1N POWE, point Presentation, are known as
(©)  Placehdilers (5 Teitgionss 4
™). Blueprints =2
(E) Questio‘;‘jmt attempted | s Q\
IR ize o ST S e Frifim 5
(A) %mw;?{a i i <TIS ?i,a“%“ﬁ“%..“ﬁra" FTR, A g 8
B) Tz i
™
f‘i‘}
K
Q
(8
O
N
v
© =w= B) 3w
= g maﬂlr?aﬁ'aﬁﬁ—mmmf M
©)  Fmer - ffey B s ﬁ\%\
(E) %%g “ (D)  finfy -ar—rl?\\:
P12) @ i v
8

~ CLICK HERE FOR VIDEO SOLUTION



https://www.youtube.com/live/XL7JnGA9r2U?si=V00L5-ji6bJJQThl

39 Which of the following is NOT an input device? <
A) Touch Screen v (B) OENEC 1
:C)) §ifimze g (D) Projector x
(E)  Question not attempted ilg]
ﬁmﬁ%ﬁﬁﬁaﬁ?mwﬁaﬁvqﬁ%‘? O
(A) TTEA (B) W Lo}
(C) w=d N (D) WX N
(B) afE war o N
40 A tool used for operating industrial robots, playing computer games and training ﬂ1gﬁu!51mulalors is called:
(A) Keyboard 7y (B) Joystick
(C) Light pen 42 (D) Mouse i"“]
(E)  Question not attempted)
T 3T ST et firen At 3 aReTer, s i 3 Qe e e i wikmeor W%m%mﬁw
BT & FHEATT R - 8 -
(a) #Hrag 0N @) Srafes 6}
(©) =¥ N (D) #=H 0N
(B) igaf@ws v ' N
41  In which referencing, the cell reference does not change while copying the formula? =
(A) Cell referencing (B) Absolute referencing
(C) Relative referencing ) (D) Mixed referencing ")
(E)  Question not attempt )
forar et &, wriem w1t st v B Rpew et st@etam? L
(A) e Rt S B) wEEEe st g
(C) f&ifes fepife N (D)  fireee fegiftim g
(E) Sguf@yus N ™
42  Which of the following is a smallest data unit of a computer? A
(A) KB B) GB
(C) Byte ™ (D) Nible g
o~ ¥
(E)  Question not attempted 1o
Freafefe i i e i e e & >
(A) el (KB) o (B) SiEht (GB) (53}
(© 1sE (Byte) ™ @) frEa (Nible) N
(E) rguf@wa N N
43 -1 3% gy gE-11 5 e =
Hi-1 (ST T RN T )
a. IARAFATAR L :
b. o & ufeef ) 11 :'TI:I\:}NR m
c. e @mr Sl S:; . I N
d. fE=idear IV. 3T o
At R e forredt # & e Sug Se T T B Gy
(A) a-ILb-1IV,c-1,d500 ®) a-Mb-Lc-1v,d-TCN
Q) a-1V,b-1I,¢-11, &3 D) a-Lb-IIc-1V,d- II(\!
(B) rmfawg v ™
P12 © 9

[ P.T.O.
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44 AT 3@ 37 & for e RTE T ST €T 82

(A) A T FEAT (), S
©)_ T (D) A=
E ﬂaﬂﬁﬂ g
45 fa:qw'%ﬁ-maiﬁsﬁ%ﬁmmﬂmﬂrrﬁmm%? _
(A) Circular @) Order
(C) Reminder (D) Memorandum
(E) gafawsr
46 Who presented Rajasthan state budget of 2024-257
(A) Jogaram Patel (B) Kirodilal Meena
(C) Bhajanlal Sharma (D) DiyaKumari

(E)  Question not attempted
a9 2024-25 TSI T3 it w2 e e v 2

(A) SFTRE YT ' B) RIrerer o
(©)  wFeTer ywt D) FR=THFarh
(B) i s :
\ 47  Which Indian athletes is known as the ‘Queen of Indian Track and Field’ or ‘Golden Girl’?
% (A)  Sunita Rani (B) Kamaljeet Sindhu
" (C) Krishna Punia (D) P.T.Usha

(E)  Question not attempted
ﬁnr%%aﬁ%ﬁﬁawm@t—ﬁza%‘wmﬂwamaﬂtvﬁaﬁw' AT M el 3 AT S ST R

(A)  gar T (B) FHHesi vy
~C) FwmyfEr (D)  drdsar
(E) rafa wy ‘
48 ‘NAMASTE’ scheme, is related to which one of the following group of workers?
(A) Construction workers (B) Health workers
(C©) Agriculture workers (D) Sanitation workers

(E)  Question not attempted

R Ao e Rifa we & & R i & w2

(A) Tior smfifs (B) ey Hififs
©) =y =ffs (D) =zarHifits
(E) gafawy
Y FEiE sreitereE # e % ¥ R wrse o weinT v ST 29
A Far (B) ey
©) 3o frarh (D) B
®) st s
% Choose the most appropriate English translation of the given sentence.
T Y 35 Gy B
(A) When did you sleep at night? +B)— Do you sleep at night?
Eg What time do you sleep at night? (D)  When did you go to sleep at night?

Question not attempted

P1
1o 10

[ p.T.O-
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31  Choose the most appropriate option for the reported form of the given sentence:

\ “Read it for yourself if you don’t believe what I say”, he told me.
(v}
| (A) He told me to read it for myselfif I didn’t believe what he said. (¥

(B) He @‘(ed me to read it himself if I was not ready to believe. :‘j
(C) He suggested that I read it since I didn’t believe what he said. 3y
(D) He Eé’};d.me to read it as I didn’t believe what he said. i;
(E)  Question not attempted v
52 Choose thfr]f.nglish word for the given word. (7
TeTafre sfefgmaT i
L ) Ly
(A) Res{::scted holiday (B) Casual hﬂﬁd&)f,a
~(C)_ Natidhal holiday () Gazetted holidhy
(E) ngc;\t:ion not attempted g:i
53 Choose thE Most appropriate word for the given sentence. =
A person who is incharge of the objects of works of art in a museum.
(A) Cregl}ous (B) C’“"Wh‘gﬂi
(C) Curator (D) Calligraphist{j
(E) Qu%on not attempted 1 g
54  Choose th€'Word opposite in meaning to : &y
DISHEV'FEL?},ED S‘%
(A) tidy (B) _untidy
(C) confident ‘ (D) jovial ~%
(E) ngon not attempted & | {Tﬁi
55 Choosea @rd nearest in meaning to the underlined word. g
The convifi’s ingenuous explanation brought tears in everyone’s eye. &3}
(A) insi?éere _ - (B) secret ?j
(C) naivel (D) clever =

(E) Question not attempted ‘

56  Letx = {1{2} and y = {1, 2, 3}. How many different functions are theré'ffom x in to g2
(24

AT x={,£,m)z}aﬂry={1,2,3}ixﬂyqtﬁaaiﬁ:=r.ﬁ=rmg7 1

iy

) 6 L

(a) 3 g B 5

(E) ngﬁon not attempted / ST :ji
P2] @ 11 ' [ P.T.O.
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57  Aman starts a business with % 40,000. After 4 months, Bhanu joins Aman with ¥ 20,000. Find their profit

sharing ratio after one year.

ST X 40,000 % HTI T SIS I[E T 31 4 FER F 412, W T 20,000 o ETY A % T TS e B T T

% 3 5 2 35 1 1 1T 9 Y
A) 2:1 B) 3:1
© 4:1 D) 5:1

(E) Question not attempted / ﬂgﬂ'ﬂ‘d B e
58  To complete a certain task 15 men take 10 days working 12 hours a day. How many hours a day should 10

men work to complete the same task in 20 days?

et = = g e g o R it 12 U HH FF 15 =3ftR 10 Rt o w4y 8 St reF Bt 20 R o gy

110 afirelt o s for 3 ey o v e s

(A 8 ®) 9

© 10 D) 11

(E)  Question not attempted / EIERIEGR e ‘
59  Who is the chief architect of the construction of

‘Ayodhya Ram Mandir’. (Choose the most appropriate
option from below:)

(A) Ram Sutar
(C) Chandrakant Sompura

(E)  Question not attempted

(B)  Jagmohan
(D)  Arun Yogiraj

(A) THaR (B) rmites
(©) Siswiadmy D) &9 Frfrorsy
(E) 3rgafiawy
60  Who was the Chief Election Commissioner of India during 2024 Lok Sabha Election?
(A) Rajiv Kumar (B) Gyanesh Kumar
(C) Naveen Chawla (D)  Sunil Arora
(BE) Question.not attempted
2024 S T 1T 5 e, mm%gmﬁmamgmaﬁﬂ?
(&) Tfta g (B) IHWFAR
© & 3aey (D) et ari
C B ey
P12
] 12 [ P -Too'

f
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i tions that follow: (Q. No. 61 to 65)
Reéad the given passage and answer the ques . ‘ ' -
Neir Delhi: Whether it is playing chess online, ordering food on a delivery platform, interacting with bots for

reponses to queries, triaging patients or creating deep fakes, Artificial intelligence is now entrenched in

\modern life. It isn’t surprising then that universities and research institutes are carrying out extensive studies
not only on the application of AI in multifarious disciplines, but also on the impact the fechno.logy has.on
lives. At the Yardi School of Artificial intelligence in Indian Institute of Technology, Delhi, studies are being
conducted on building Al algorithms that can be used for different applications- a dialogue system where
patients can talk to an agent about patient history, machines that can interpret ultrasound images and CT
scans and systems to predict cyclones early. The range of studies is extensive.
A lot of the studies at Yardi School are also assessing the existing Al algorithms to plug gaps and social
biases present. Abhijan Chakraborty, assistant professor, IIT-D, said, “While these days, the hype is around
ChatGPT, there are other kinds of algorithms that are already in practice. For instance, when one applies for
a loan, banks use a2 model in which data on the customer generates a sense of how risky the loan will be. In
many of the contexts used for Al, it was found that the algorithms tend to be unfair to marginalized groups

because there might not be much data available and the model automatically assumes that the person is a
potential defaulter.”

Chakraborty talked about its use in the judicial domain. “People are using a sort of predictive tool to determine
how likely a person is to commit a crime if released on bail,” he pointed out. “A study showed that it was
highly biased against African Americans with even those who hadn’t ever committed a crime being classified

as high risk.” It is because of these drawbacks that Chakraborty said the studies at Yardi School
create algorithms that are fair across diversities, ethnic, religious, linguistic or gender”.
anything that directly impacts any particular group,” said the assistant professor.

61  Scientists are aiming to create an unbiased algorithm-

(A) To study the impact of technology on human liver
(B)  To bridge the gaps and remove social prejudices
(C) To study about potential defaulters
(D)  To start a dialogue system for future patients
(E)  Question not attempted
62 A set of rules that must be followed when solving a particular problem is
(A) Artificial intelligence (B)  Multifarious disciplines
(C) Chat GPT

(E)

(D) Algorithm

Question not attempted
63  Match List-I with List-II

List-1 (Words)

aim to

- “We mean to rectify

List-11 (Meanings)
a. Entrenched I ability of show future happenings
b. Marginalised II. established stron gly
c. Predictive Il People that share the same cultural traditions
d.  Ethnic IV, with not much say in important matters,
Choose the most appropriate answer from the options given below:
(A) a-Lb-ILc-I,d-1V B) a-IV,b-1l,c-1.d-1
(€) a-HNLb-1Lc-1V,d-1 D) a-I,b-1v,c-1,d-11
(E)  Question not attempted

PI2| ©

13

| RT.O.
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64

Match List-I with List-II

IV. Disbursing lqgﬂs
Choose the most appropriate answer from the options given below:
(A a-MLb-IV,c-IL,d-1

©€) a-I,b-Lc-1,d-1IV
(E?,-] Question not attempted

™ List-I (Fields) List-II (Application of Al) /
M a. Medicine I Predicting n fy ral catastrophies

) b, Banking 1. Identifying Pﬂtﬁinlial crir-ninals ..
O. Criminology III.  Interpreting tlgrasound images

O ¢ Meteorology

'%i"’

(B) a—IV,b-III(q!-I,d-II
(D) a'I;b‘H,CrIN,d-HI

65 Idgmiify the drawback of using Al extensively according to the passage &)
(A)y A bot will take down the history of patient.
(BYD Biasness against certain sections of people due to lack of informakon.
(G)3y Natural catastrophics can be averted due to timely alerts. O
(DJN Takes care of loneliness by providing online companions. o
(ESN' Question not attempted cf:j
66 Pt i ya adh o wree . i
AB e a ety b. YR
; LRt d RN
o™ . o
ﬂ%ﬂ@ﬁﬂﬁﬁﬁmﬁmmmmwaﬁﬁm e
(A), FaTa, b3 c (B) FaADb, d 3E)
(@5, Fb, c3iRd D) Fada,c IR
By STwfe war o
Freafafes § e fafaq e e ™
(A)- =% 3R B (B) m:ﬁt%ﬂr%-@m
(©) =IE a3 gE wrm {D) A g
(E) rufawy
68  Who was the Governor General of India when Awadh was annexed by British?
(A)) Lord Comwallis (B) Lord Dalhoufd
(@YY Lord Velejali (D) Lord Cannin
(B2 Question not attempted
ﬁ%mm%%m%mmwnﬁwﬂwm g
@Y i Frdaer ®) TSt oy
(C) | &iE A=l (D) <7 Ffa N
(E)  srqafawsy = Lo
69  Which one of the following Articles of the Constitution of India provides the information about the functions
of Rajasthan Public Service Commission?
( Article 312 (B) Article 316 (V)
Qg Article 320 (D)  Article 317 ™)
(EY> Question not attempted L
W#ﬁﬁmwﬁ'ﬁ%ﬁﬁﬁ%mﬁ#maﬁ?&zmmﬁm WW*W‘*W% &
(AN s17=22 312 (B) 3T=d4 316 o
(ON #17%7 320 (D) IIR3NT
(Ey+ STqaf@a ug ol
P2) @ 14 e
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72

73

P12] ©) 15

;'

According to which Article of the Constitution of India, the Chief Minister is appointed by the Governor of

a State?
(A) Article 163 (B) Article 164
(C) Article 165 (D) Article 166

(E) Question not attempted

T 3 Wl ¥ o aTee % srgan ger A fafte oo & e g S @2

(A) IT=T163 (B) = 164
(C) 3T 165 (D) T2 166
(B) aia s
was the first state to establish Panchayati Raj.

(A) Gujarat (B) Rajasthan
(C) Uttar Pradesh (D) Punjab

(E) Question not attempted

EEIEGIRERSIEREASE IS IR IR Iy

(A) TR (B) TwEE
JC)  FT W (D) uSE

(E) Iuiayd

Geendar dance is associated with which region of Rajasthan? (Choose the most appropriate option from
below:)

(A) Barmer (B) Mewar

(C) Marwar (D) Shekhawati

(E) Question not attempted

ﬁasgmmﬂéwuw%ﬁmﬁaﬁ%ﬂﬁwﬁ%mﬂmmﬁmg@q

(A) =W ®) #aE
(E) TgaRa s

Who among the following was the follower of Nirgun worship? (Choose the most appropriate option from

below:)

(A) Ram Charanji

(C) Dadu Dayal

(E) Question not attempted

Freaferfiaer & & 2 Fonfor s a7 g e (et 3 & gl 39 e )

(B) Meera Bai
(D) Ratan Singh

(A) TH =S L@ faas
(E) 3ufta w4
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74 Match List-I with List-II Py /
) List-I (Fair) List-11 (Place) /
1c¢ J,

z{ﬂ Beneshwar L Karauli ({7}
l’f{g Kaila Devi 1L Tonk £y
g3y Jeen Mata . Dungarpur" 4
dN!  Diggi Kalyanji IV. Sikar :xj
et -1 éer&q—q& i} argaﬁwﬁq -
et crem et -1 (&)
2y %ﬁrﬂ £ ol e
bYy Fared, n @® :' "
éfy  SftorwTar I SRR
42 Reftweamrsh v. #&
Chmséa}e most appropriate answer from the opuions given below: ;33
Ay foreitt feraredl 3 @ ararHfares Suge I a0 99 T e
A SNpb-mc-1d-1v ) ha-1b-ILd I, d-IV
¢ (Cy—a-I,b-Lc-1V,d-II (D) a-IV,b-UHc-1Ld-I

(E) Question not attempted / STqafa 51
75 gry  was the first educational satellite launched by ISRO in ﬂle year

qeeT e sre ISROEM_ add SrermEmen _ﬂ
(AL @AT, 2010 ‘ (B) EDUSAT,2004
(C) METSAT, 2010 (D) EDSAT, 2631;
(E) @Qukstion not attempted / TR 4 ﬁ]
76 In a pedigree analysis it is observed that only male children are affected with the Haemophilia disease
because it is a/an:
(A) Autosomal recessive disorder (B) Sex Iinkedﬁi:essive disorder
(C) Attosomal dominant disorder (D) Sex linked d(sminant disorder
(E) stion not attempted
Wﬁﬁw&&%@w%ﬁﬁmaﬁﬁmﬁwﬂﬁ%ﬁ@ﬁ Fifer T8 Toh-
(A) ST T T R @) feim e S foem @
© ﬁfﬁrmjrsrma‘!ﬁw% @—WWWW%
(E) %ﬂﬂﬁw —_—
77  Which civilization is famous by the name Dhulkot or Tamravati Nagari? (Choose the most appropriate option
from below:) gg
(A) Auhad (B) Balathal L)
(©) f%ndravati (D) Indus oy
1 ) )
(E) estion not attempted C '
Wﬁdﬁ’mmmmmaﬁmﬂ#m#mm (ﬁwﬁ&wﬁwwﬂi)
“w W (B) SRR
(C) (D) feiy
(1) difata ua
[ P.T.O.
121 © 16
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Select the most incorrect statement from below about Kalibangan civilization.
\ (A) The ancient Drishadvati and Sarasvati river valley (Present day Ghaggar riverine area) cradled the
civilization of Kalibangan. 0
"(B) This civilizatidh s situated in Hanumangarh district of Rajasthan. 1!
(C) Kalibangan wargl planned city, the sunbaked bricks were used to build:f}'_Buses.
(D) No evidence of loughed field has been found in Kalibangan. [*
(E) Question not aftempted ’:g
Ww%mﬁz}m TR HUF 1 I Hl
(A) mﬁqmﬁwww@ﬁquﬁﬁm%mﬁﬁmﬂﬁmﬁwﬁm
(B) & a1 TUsedi oh gATTe foret 7 ferer 21 (g8
(C)  sFredva we gt wree o, i 35 For 3 e e 3 ey € IR e ST <7
(D)  Sreltem i STaTs et @er a1 B o A€ v 21 g
(E) IaRaud Q Cf
79  After the death of Rana Sanga, who became the ruler of Mewar? (Choose thé_miost appropriate option from
below:) o Y
(A) Rana Vikramafi?a (B) 'Rana Ratan Singh (4
(C) Rana Uday Sirig (D) Rana Amar Singh v}
(E) Question not attempted
wmaﬁrﬁ%wﬁﬁaﬁmmmw (ﬁﬂﬁﬂmmﬁmﬂﬁ )
(A) mﬁmﬁ.’am (B) T @A fiw m
©) umIEEE |n (D) T 3R fiE L
() 3uRkayx O (o
80  Find missing numbe@ given figure. g
e srafa mu@{i\&mﬁﬁm R
T *
12
€}
59 | 27 - L
(A) 191 ~®) 261 -3y
©) 181 & D) 291 g
(E) Question not attgmpted / STTAIT T 4 L
81 If o and B are the r% of the equation 3x% —13x+14=0, then what is the vﬁe of Tl ?
2
o o3 p T THE 3%~ 13x+14=0 FATTE A = B &7
A) 8 () ® & ™)
m & )
©) 3—3 (D) %—52— )
(E) Quesuon not a mpled | SAFafd 94 gi
8 Pl & Pk g wft frede @m- 4
(a) Fr+edsd o B) i +orf® Y
©) H+aid (D) Fu+swE
(E) Agafaua
P12 @ 17

CLICK HERE FOR VIDEO SOLUTION



https://www.youtube.com/live/XL7JnGA9r2U?si=V00L5-ji6bJJQThl

83

84

85

Which conclusion/conclusions would follow on the basis of given statements:
Statements:  Some Flats are Apartments.
No Apartment is a Hall.
Some Hall are Rooms.
Conclusions [: Atleast some Rooms are Flats.
II: No Apartment is 2 Room.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Only conclusion I follows (B) Only conclusion II follows
(C) Both conclusions I'and IT follow (D) Neither conclusion I nor II follows
(E) Question not attempted
1S o T T 35 ST T T T e, e 7 & ] T ST el &
HY: FO I ITUEHE 2
18 JUHE gret e &l
FO T FAL L
e LFEAY T IO IR R
IT: Y STTéHe FH TR
S VT 3 STl i e foehedl 8 & Farifors SugTh S I
(A) Fae e 1 sreor i &l (B) el ARy 11 TTETT HLdT &l
(C) et foread 1 37T 1 e (D) i fd 1 T T € 11 STTET T 2
(E) guia s
In a certain code language if PHYSICS is coded as KSBHRXH, then how BIOLOGY can be coded in the
same language? :
%ms;cs F foret Fifea wTaT # KSBHRXH i fofam ST & af 36 e wror & BIOLOGY =1 ¥4 forar
(A) SYSLOMTC (B) YRLOLTB.
4€) YRMOMTB )@) YRLOLSB
(E) Question not attempted / STFHe T4 :
Select the figure from amongst the answer figures which will continue the same series as established by the

given problem figures.
IR AT AT H A I AT B T HL S TS T ATHTAT G T Syoft w9 § St S qehl
Problem figures / ¥ gt

X #|C es #|C Xle #
;8 X ® S X
° cl# s|x cl# ®ls C
0] (i) (iii) @v) ) "
C X C X %
(A) G (B) ®
® s = s
C S S C|
© » (D) ¢
& X E— 4 P12 |
(E) Question not attempted / ST W41 [ .10

2] © CLICK HERE FORW/IDEO SOLUTION
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Mathematical symbols are respresented by alphabets as shown below:

nforelra el i %o et gro gwta T 2, S AR e ) i

e

+ | =|x|+tF|>]|<

e L

if
B|G|E|C|D|A]F

e

i

)

Now identify the correct expression from the given options: ‘“f‘
ara few e fosredia & welt srfiveafts o = it Py
(A) 18C3D 6B8C 4G 12 (B) 18A3E6B8G4B 12
(€) 18C3G6B'8B4D 12 . (D) 18F 3B 6E 8G 4E 12
(E) Questmn tﬁ attempted / Gﬂﬂﬁﬁ B &8
41
87  Acircular park wrﬁz’se circumference is 48:0 m has 10m wide path runnmg around it (outside the park). What
is the area (in miﬂf the path? (Use = _) i;f.;
qairhamwna&maﬁrq&ﬁr T2, 2, e it S (a3 e 10 9, Hrer arer 1 T 6 e e )
Q]
T (=22 Srivwdn a0
7
(a) 2wt i) ®) gt gy
© 5o ONES S
(B) Question bl attempted / SRR 94 Q
88  In an election betWeen two candidates 75% of the voters cast their votes, gyt of which 4% of the votes were
declared invalid {:\‘ candidate got 9,261 votes which were 75% of the totaL;vahd votes.
Find the total nui mi)er of voters enrolled in that election. £
a‘rmﬁm‘i%w%gwmﬁ 75% RIS 3 ST Herar e, il & 4% Hee1y 91 1) uh e # 9,261
R STH G S S A 1 1 75% 21 T A oh e AR HARIATSAY 2Bl ST 1 el S
(A) 17,150 (B) ' 17,000
~C) 16,800 @ 16500
(E) Question not attempted / 3TFART 74 rf'}
89  Which allotrope of carbon is a good conductor of electricity? 153
(A) Graphite , (B) Diamond &3
©) Fullerenea (D) Coke &
(E) Question not attempted e
e T I AT SEET Forege =1 gares 2 e
(a) FEE Y B —dRT (ST
(€) FoHE v (D) I (F==1 FIgaT)
(E) uita s
90 A full length image of a distant tall building can always be seen by usmg (2
(A) aplane mirfor (B) both concaveiﬁg well as plane mirror
(C) convex mirror (D) concave nnrrol:j
(E) Question hb} attempted
mm@mmm@mﬁmmmmmmmm%
(A aHaw &) (B) W&kwa&wﬁrﬁ
©) wweadnC N <(D) 3T T
A IR e H
PIZ](E; 19 [ P T.O.
’_Q CLICK HERE FOR VIDEO SOLUTION
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91  Which of the following Dams in Rajasthan is NOT on river Chambal?

(A)  Gandhi Sagar Dam (B)  Rana Pratap Sagar Dam

(©)  Kota Barrage (D)  Ramgarh Dam

(E)  Question not attempted

TSR T & T Ay i T A 2 _

(A) it amm sy (B) IO T4 AR 7y

(C) Herrs Q). WREy

(E)  gefauy

92 “Mitigating poverty in western Rajasthan” (MPOWER) is being implemented with the help of -

(A)  World Bank
(B) RBI
(C) Asian Development Bank
(D) T1FAD (International Fund for Agricultural Develpment)
(E)  Question not attempted
“crf‘am‘rwmﬁnﬂaﬁaw’ (TH WTa) aﬁ%mﬁrmmﬁf"m"m&ﬁﬁwrmra%?
A) fmds
(B) 3m. . o
©)  RrE aaTie ¥

—P) IE. T (saﬁma’%ﬁt‘aﬁmm%miz)
(E) safawsy
93  In which year Rajasthan State Food & Civil Supplies Corporation was established?
ST T3 el O i STt T o o 3 2 off
(A) 2010 (B) 2012
—€) 2011 D) 2014
(E)  Question not attempted / ﬂgﬂﬁaﬂ’ﬂ‘
94 By the 44% Amendment Act which of the following fundamenta] right has been removyeq from the list of

fundamental rights?
(A) Rightto Property (B) " Right to Equality 9
(C) Right to Freedom (D) Right against exploitations ‘
(E)  Question not attempted

44%mﬁuqaﬁ1ﬁmmﬁw%%aﬁﬁféﬁaﬁm ATFR F i aﬁlmzﬁ'rrﬁrﬁaaﬁmw%?

(A)  wwfa 1 stftrw (B) wREaTE

—(Q) =R s (D) 3o 3 g, siferepe
(E) aftauy
95  On which date RBI announced withdrawal of 2000 currency notes from circulatjon, (Choose the most

appropriate option from below:) 100
(A)  April 16, 2020 (B)  August 15, 2021

(C) May 19, 2023 (D) May 31,2022
E uestion not attempted

%ﬁ%aﬁm. ft, &, gr: 2000%3%:#%3%;;;;;;:;&@@;.3“;&% (e 3 @ gard 3uge ey

i |

(A) &9 16, 2020 (B) 37T 15, 2021

(C) TE 19,2023 D) 7§31, 2022

(E) wrgafasa ”

PI12] ©)
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Where is the Indian Institute of Handloom Technology located in Rajasthan?

6
9 (A) Jaipur (B) Udaipur
(C) Jodhpur (D) Bharatpur
(E) Question not attempted
TR H T T (F-e) Wi e @t u fog 2
(A) SEI (B) IR
(€~ S (D) AR
(E) HIORa WA
97  Under which scheme 3.25 crore accounts have been opened in Rajasthan up to September 20227
(A) “Pradhan Mantri Jan — Dhan Yojana (PMJDY)”
(B) “Pradhan Mantri Jeevan Jyoti Bima Yojana (PMJJBY)”
(C) “Pradhan Mantri Suraksha Bima Yojana (PMSBY)”
(D) “Pradhan Mantri Mudra Yojana (PMMY)”
(E) Question not attempted
f?mmﬁamaammmﬁﬁam 2022 T 3.25 FUS WA Giet A1 Fob &2
(A) S S ASET (PMIDY) By “wurEET sftew s star FsEr (PMIIBY)
(C) “warHt Feadr ST ASHT (PMSBY). (D) “wETHE} HET AT (PMMY)
(B) gaia "
98  Where is Rajiv Gandhi Fintech Digital Institute to be established in Rajasthan? (Choose the most appropriate
option from below:)
(A) Jodhpur (B) Udaipur
(C) Jaisalmer (D) Jalore
(E) Question not attempted
uﬁaﬁﬁﬁﬂﬁ%ﬁmmmﬁﬁmﬁwm@ (= F & el 3T faeea 9:)
~(AJ__5'|’|"TS,T (B) - SR
(©) (D) SR
(E) N@ﬁﬁw
99  Which of the following will sink in water?
(A) Kerosene (B) A ball of stainless steel
(C) Empty plastic bottle with closed lid (D) A wooden stick
(E) Question not attempted
Freferaa i & e g i 5 S
(A) FRA ' By TAg T i
(©) o TR Il efiee il el dae (D) U oehet ol a3t
aa?lﬁ'ﬂ a4
100 (‘TE‘h)e non-metal which is used for making electrodes and is also a good conductor of electricity is :
(A) Sulphur (B). ~ leon
(C) Graphite (D) Nitrogen
E uestion not attempted
oo i ot oy e a5 e P s & et g e 22
(A) HEH & ®) e
(©) IFEE (D) TR
(B) waftaag
P12 ] @ 21 [ BT,
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101 Choose the most appropriate option to fill in the blanks.

Mr.Mehra called while you were out. He wants to make

£7y_complaint about
- i
article in the papef) He wasin ___ very bad temper. \ ‘j-
(A) A,aan,al) (B) x,an,an,an i:l
(C) A, a,the, 5:3 (D) A, x, an, the i
(E) Question g\o\& attempted 1,5
102 Choose the most; appropriate option to fill in the blanks - ™
I can’t do this joE“Alone. Ineed ___ to help me; in fact will 3'6;, as I just need 1
assist me, ¥y
(A) nobody, noone, anyone (B) anything, nobodyjanybody
C)  somebodyanyone, someone (D) anybody, nobo:f{}anyone
(E)  Question 5'1_::1 attempted E,;j
103 Choose the mas%appmprfare option to complete the sentence; {-i;
The full form offDO letter in administrative or official communication is £}
(A) Demi offitidl ~B). Direct official ™
(C) Do Open (D) Dare open
(E)  Question 1o} attempted y ¥
104 Fill in the blank chposing the most appropriate opfion : {%y
He succeded in 1ifg his physical disabilities. iy
(A) in case of'=> (B) but for g::
(C) inthe eveﬁf.unf (D) in: pite of ;"_'xi
(E)  Question riof attempted N
105 Choose the mos#&'jrprapn‘aze word to complete the sentence given, ™
For once all the committee members agree one another.
A) to '
((C; with . ((BD)) ;‘I:r {;}
M ¥
(E)  Question not attempted iy _

106  Five students paftitipated in a scholarship examination. Suman scored momhan Preeti. Komal scored less
than Sunita but E"ﬁ re than Suman. Mansi’s score is between Preeti and g{g}nan. Who scored least in the
examination? o {““_!

(A) Suman o (B) Mansi e |
(C) Preeti (D) Komal
(E)  Question not attempted
A S e o o ) st s s e g & g s s AT
T T R R ) e 2 e e Pty e 4 w5
LY, D < L
(A) Hm :{; (B) W : 1; ‘
O (D) @ o
| (B)  srfa g - "
P P12] ©
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107 Eight personsL, M, N, P, Q, R, S and T are sitting around a round table conference facing the centre.

1. R sits between L and S

1I. S, who is the neighbour of Q, sits third to the right of T

I11. Q sits second to the right of T.

IV. M sits third to the left of R

Then who is sitting at immediate right of M?

FBHARGL, M, N, P, Q,R, ST T U TieTTer 391 3 <1 S qelier # s 1 3R 7 i 43 8
LR, LTS Hahif dardy

IL. S, QﬂiwﬁT%%r%ﬁmiﬁﬁ#mmaaa

1L QT ¥ =rfeeft o guit e e At 2]

IV. M, R % aTff a0 offe e 9 <1 8|

oM %B_ar!a H T i AT R?
(A) R B Q
© L @O P

(E) Question not attempted / ARG I
Ashok walks 4m towards north. He tumns to his right and covers a distance of 12m and after that he turns to

108
his left and covers a distance of 12m. The shortest distance between starting point and end point is:
(A) 23m (B) 28m
O 25m D) 20m
(E) Question not attempted
79T 3T Y TRF 4 Hiet T 81 [: T€ et S TeR 12 12T a eraT & 31K 36 a1 98 Gt St 37
Trgar & i 12 e o g 7 e 2 et 6 efres g & 37 e At e o8t o qar e
A) 23#HIX ®B) 28HX
(@ 25¥H (D) 20X
(E) rgaiawd
109 Which of the given option, will complete the given series?
1y for ey Pyt 3 & T 7€ ST B F?
aabc_ _bca_b_a _bc
(A) aabca (B) aacba
() abaac (D) aaaca
(E) Question not attempted / STl 54
P12 © 23 [ P.T.O.
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110 Match List-1 with List-1I

.if
List-1 (Right) List-11 (Rclatcd:t_?
a. R&g[nt to Equality L. Protection of lif¢ and personal liberty
b. Right to Freedom II.  Prohibition of human trafficking and
g} forced labour %y
c. Gultural and educational rights 111. Abolition of titlé?’éxcept military and academics
d. lgght against exploitation IV. Rightof minoritig\sjto establish and administer
educational institutions
T -1 el O, & i i
-1 (atrm) TE-11 (Frafeed §)
a. WA S L Sfie sit safemd S 6 gea
b.  Fdr @ siftreR ; -
% I A TRt i e o qo wfise
c. Hgﬁmaﬁtﬁaﬁmaﬁm L. &= 3R frefores Satferdt < Srese sy
- BALERIER o)
ﬁw{\g foreg arfrre IV. ﬂwa@aﬁaﬁﬁﬁf?mwwﬁawaﬂt
P wmmﬁ% SRED
Choose the mc:f_gapf;raprfare answer from the options given below
= fumg i’rﬁwaf&a;auga;maﬂmﬁﬁm
A - 3 -
(c; :-;:Vb piy ®B) a-Mmb-1v,c-Th._m
Q_ 2 tE:}IH’ ¢-ILgd-I @) a-NULb-1,c- Iﬁ;d i |
(E) Questionmot attempted / SO uep e - _
1 | | '
11 ::1)10 wlis the S§e Election Commissioner of Rajasthan as in August 20245"%
derjit Xhanna :
(B)  A.K.Pandey M
9 Madhulag Gupta (D)  Prem Sin hivl
(E)  Questiofigiot attempted W Vieket
anmzozﬁﬁ'am%;mﬁahqmaﬁqm ™
A)  T=Sfaa=r — :
© (B) T g ™
IR, ® e o
& (E) ‘ AgaEaEy QO
2 Which of the ﬁﬂlowing is a second generation computer? ?';;
P wr et/ HFTS ST BT g 2 N
(A) IBM 43} Rl
©) 1BM 70@& ) ENIAC i
D
s (E) Quesliop-:)ot attempted / A gy By PRt
Which of the following became
the first n
(A)  Maharashira ¢ st state to adopt a road safety ac“"“rﬂ;}‘n?
(C)  Gujarat™M) (B)  Rajasthan Ly
(B)  Questiofy fo attempted ™ Madhya Prutlcsg)‘
) I |1 USY g mwﬁ%wmmﬁwmww,w
o = 0) ®) wowm
Ta o\ D) il v
(B)  sryafratrg R
PI12] @) v
24
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114

115

116

117

118

When a ray of light travels from the denser to rarer medium:-
(A) it bends away from the normal. (B)
(C) it goes straight. (D)
(E)  Question not attempted

e WeRTeT ht Uah TeRoT Je Hrey | fawer mvey o St 8-
(A) e e ¥ guHs S 2)
(C) Fe it ferer St 21

(E) i 9
Focal length of a conc?&e lens is 50 cm. Its power will be :-
@mﬂaéﬁﬁqﬁm“iﬁ 50 cmﬁ?ﬂ’éﬁf STt B :-

(A) -2D ' (B) +2D
(© -5D o (D) +5D
(E) Question not at&qlppted / 3-‘!3?&?[ BES
Two identical lamps Ii_ﬂmd L, are connected in an AC circuit as shown, then -

a‘rqmsogmaﬁrhm@maﬁmﬁﬁiwﬁ%aﬁim-

2 @D
R ™~
100mH  @Ley

‘g LI LA
i

=y

NS
200V, 50 Hz

~{A)y—Both lamps glomqually bright (ﬁ‘ﬁ' Wmmi‘i’o
(B) L, glowsbrightddthanL, (L aS¥emIamL,®)
(C) L, glows brightéPthan Ly (Lo ST SeRTST 37T Ly &)
(D) L, does not glow’ (L, ST =& 2m)
(E) Question not atténpted / HFARE wH
Fe, 0, +3CO —> 2Fe +3CO,

In the above chemical reaction, the reducing agent is :-

F T TEEAE ¥ YA B
(A) Fe,0s B) co
© Fe ' N D) CO,

(E) Question not atfémpted / STTAIT W

Which of the followirg Is not the characteristic of a physical change?
(A) New substance is formed.

(B)  This change is {emporary.

(C) Onremoving qufause of change, it is reversed.

(D) Only physical praperties of substances like state color, smell etc, change.

(E)  Question not attempted
Fraferfae i & i dr sifeer fad i faea 7 &
A)— 70 s % Frafol Hrar 81
(B) uftads seardt F1aT 8
(C) dfrads # aan 7 wer ur, aw ufaafda € s )
(D) e vard] F iy it 3 A8 o s, @, i genfR i afad da
(B) wqafaug N

M) g ok 25

it bends towards the nom:es_;lt
it comes back in the same;medium.
0

o

(B) uaaﬁmaaﬁraﬂtgsaﬁﬁ‘?r
o (D) %wwﬁmwm{ﬂ%l

- |
™4

M
i
o
63
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119 2H0, B, 94,04 0,
In the above chemical reaction glycerol is a : -
(A) Positive catalyst (B) Negative Catalyst
C) Auto catalyst (D) Bio catalyst
(E)  Question not attempted
2H,0, —mznzo+oz
SR TS Tt e i e 8l
(A) T se (B) FUTHF IR
© = (D) S 3o
(E)  vryafa gy
120 From the topofa2lém high cliff, the angle of depression of the top and bottom of a tower are 30° and 60°
respectively. Find the height of the tower,
216 ﬁ.ﬁm%m#wm%sﬂﬁﬁnw&; ST I F: 30° 3Pt 6o T ST Iy
(A) 135 m gt (B) 140 m (ift)
© 142m D) 144 m (sft)
(E)  Question not attempted / SR ey -
121 How many triangles are there in the given figure?
l‘\‘h
(A) 10 ®) 11
© 12 ®) 15
(E) Question not attempted / STIufE way
122 The valye of cot 15° . got 20°- cot 45¢. ot 70° .« cot 75° i -
Cot 15°. cot 200. cot45° . cot 700 . Cot 75° Ham R
(A) o : : B) 1
© 2 @) 2
(E) " Question not attempted / 1wl way |
123 Following foyr numeral pairs are giyen Out of these, three are alike in a certajp way but one is different
Choose the one which ig different from the rest three
i, AT 3 g g lm&m@mﬁm’ééﬁw@ﬁ:ﬁl i~
(A) 42,257 (B) 24,144
(©) 34,204 : : (D) 26,182
(E) " Question not altempted / STwftT wer
124 Find oyt the incorrect term in the given Sequence
A F ] TTerer g RARGE o
“ 98‘?,'?906“842, 792, 757,732, 716
(A)" 906 (B) 842
©) 1792 (D) 757
(E) Question not attempted / Hele wor
P12 ©®
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125

126

What was the theme of “World Sight Day, 2023"?
(A) Colour blindness

(C) Donate your eyes
(E) Question not attempted

(B) Night-blindness
(D) Love your eyes at workj

)
o 3 feaw, 2023 i of (fawe) == o T
(A)  SUIIFEIT (FR STTEE) Q
(B) T (15 SATTEN) )
(C) T ¥ T L (S IR ) ™
@) F H AT AT 3 TR S T (e A AT © ) N
® Faraws ™

Who among the following won the silver medal at the 6t Asian Trampoline Gymnastics Championship?
(A) Rucha Divekar e (B) Kalpana Debnath )

(C) Srishti Khandagql}z (D) Dipa Karmakar 43!
(E) Question not atiempted

) L0}
o Ui el Rreiere Aftaaafia i fre 3 & fre wia 0aw (Silver medal 3T 17
(A) ®af@Es oy

(B) eI FATT )
© gfegsrr Oy (D) AT FHIET o
(E) uiawd Y O
127 Country’s first underwiter metro line was inaugurated by India’s Prime Minister’ft which city? -
(A) Mumbai (B) Delhi
(C) XKolkata 0 (D) Kochi v
(E) Question not atfémpted 3
m%mﬂﬁmﬁ?wﬁﬂmﬁ@rwmmﬁmmﬁﬁmwe@
&) - ®) fh o
(C) ISR o (D) & o
(B) gaiass ¢y O
128 What is the theme for {National Science Day 2024’7 e
(A) Indigenous Technology for Future India
(B) International Technologies for Viksit Bharat (v}
(C) Indigenous Teclifiology for Atmanirbhar Bharat &'
(D) Indigenous Techifiologies for Viksit Bharat ; i)
(E) Question not attéinpted O
ety R Rea-20240 31 freer / efte s 2 Gy
(A) qmm%%qé@mm@%ﬁﬁw%ﬁﬁhﬁﬁﬁﬂq@tmm
(B) ﬁmﬁﬁw%ﬁﬂmﬁaﬁaﬁmmiﬁ@mﬁﬂﬁﬁﬁam
©) Nﬂﬁﬁm%@q%ﬁﬁzﬁﬁrﬁm@%ﬁﬁwm@sﬁﬁwﬁﬁtﬁm
(D) forafre v 3 foru et ey A (Gl Seisis B e ww)
(E) ruita 94
129 Keoladeo Ghana National Park is located in which place? "
(A) Bundi vy (B) Bharatpur ™
(C) Dholpur Ly (D) Sawai Madhopur M)
‘ (-
(E) Question not aix‘ehpled A
mﬁamwua?ﬁzﬁﬁﬁma%? o
(©) dEg i (D) AT AT .
®) sgefawg )
P12 © 27
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130 At the time of freedom how many Riyasats were there in today’s Rajasthan? (Choose the most appropriate

i elow:
ST AR iy B it (P & ey e e <)
(A) 15 B) 17
“er—19 (D) 21
(E)  Question not attempted / TR v
131 What was the ancient name of Jaisalmer?

(A) Maru (B) Maran
(C) Mand (D) Dhad
(E) Question not attempted

EARIEiEE L) £ )
(A) #% (B) #RA
O —=is (D) wurg
(E) afawy

132 In the genre of Rajasthani prose an
of a particular individual and dynasty are called

d poetry the works which throw light on the achievements and

incidents

. (Choose the most appropriate option from
below:)
(A) Veli (B) Vachnika
(C) Prakas (D) Vigat

(E)  Question not attempted

TSTEITT Ty aﬂtmﬁﬁﬂm}fgﬁmaﬁ%mﬁa@mﬂmﬁuﬁqﬁm@wmm%

(A) (B) Fufar
(C) o D) fame
(E) ogafaws
133 According to the census 2011, which of the following districts has lowest literacy rate in Rajasthan ?
(A) Jalore (B)  Udaipur
(C) Bikaner

(E)  Question not attempted

2011 ﬁm%w,%ﬁﬂm%ﬁmﬁ%ﬁmm@m%?
WA)Y—TTefie (B) TR

(©) T (D) SEg

(E) saf@wy

Given below are two statements:

Statement (I): Black soil is found in Kota, Bundi,

Statement (II): Black soil contains enough quanti
In light of the above statements, choose the most

134

Baran and Jhalawar districts of Rajasthan,
ty of Nitrogen but lacks in Calcium.
appropriate answer from the o

(B)

©)
(D)

Both Statement (I) and Statement (II) are false.
Statement (I) is true but Statement (II) is false,
Statement (1) is false but Statement (I1)
Question not attempted

aﬁéa‘rmﬁqﬂq%

is true,

I, AT 3 gt Rredt i ard s 2
wq-ll:ﬂmﬁ@wm@mﬂwhwﬁﬁ?ﬁ%w%ﬁwmtﬁmmm

?qmmammmamﬁﬁwﬁﬁwﬁaﬁﬁﬁﬁmmmgmm fs
(A)  &a | 30 1 2 e (B) Em:rlaﬁﬂjnaﬁ'—ﬁmar%l
(C) N T R fo e 1) s B

(D) e | o @, g am L aer )
(E)  srwfrauy .

P2 © 28

ptions given below.
(A) Both Statement (I) and Statement (II) are true.
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135 Select the most incorrect statement about Salar Forest

(A) Salar forests are also found in hilly areas of Rajasthan.

(B) These forests are named Salar forests due to the abundance of Salar trees
(C) Dhok Kathira and Dhawad are among the chief trees of Salar forest.

(D) Teak tree is abundantly found exclusively in Salar forest.

(E) Question not attempted
AT S 3 LT G 3THE U T 9aH

(A) ETCTR SR TSR % Terdh &t & ff are s &

(B) mqﬁﬁw%mﬁaﬁﬁmmm%mw%

(C) 1 FHRAW (Dhok Kathira) 3 vag (Dhawad) STETR & 3 W@ T4 &
(D) S vy & s ETET AT ST AT T S S 94 ¢

(E) a9

136 A certain sum of money amounts t0 % 2,286 in 3 years and X 2,448 in 4 years at simple interest.

What is the rate of interest per annum?

mﬂmmaﬁrmﬁ@ﬁf‘mnﬁr 3 quT i T 2,286 A4 EHI 4 T 2,448 ﬁmﬁ%mmﬁaﬁmaw%‘r

©) 10% ©) 11%
(E) Question not attempted / Fraf 9

A certain sum of money is divid between Ajay and Chirag in the ratio 7:6 . If half of Ajay’s share is T 850

less than Chirag’s total share, what was the sum of money?
g & fereft ﬁfganﬁaﬁtaz@rqqéﬁrmﬁ?m'm%aﬁma&
g e 4T 850 aﬁrra’r,a’rgﬁnﬁmnsﬂ?

137
ﬁmﬁaﬁﬂmmﬁmﬁﬁﬁm aruy fermT

®B) ¥4,200
(A) T4,320 [B) <42
D) T4420
(C) T 4,400 P )= 1487
i ttem tcdf':'ﬂﬂ'\“_-m 19 | |
138 (;f) Q“"-'Stl‘ or:g::;r:akgs 5.000 revolutions to COVer a distance of 11 km. The diameter of the wheel (in
motorcyc € * "
cm) is: ® 70cm
((g; Zi cr:l (D) 100 cm
c
- ttempted _
(E),ﬁzf;’;g;;%m 11:1' frarfer g A FA A wﬁmwwrrm%m%mmam(aﬂ.ﬁ)%:
- ) s
(L, T70%.
ot
g Zi g}ﬁ @) 1008
(E) agq;dﬂﬂ e -
139 Which of the following is not a fibre yielding plant?
(A) Sun hemp (B) Cotton
() Khejri (D) Coconut
(E) Question not attempted
i & & 1 @1 A qTeq el 87
(A) T @ ) (B) &9
(c) T (D) i
(B) SAgAld 94
M) o 29 [ P.T.0.
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140 Which of the following statement is incorrect?
(A) Nitrogen gas makes up 78% of Earth’s atmosphere. )
(B)  Only few form of bacteria are able to convert the inert nitrogen into nitrates’and nitrites.
(C)  During lightning ﬁ'gct:low temperatures and pressures created in air, convért nitrogen into oxides of
i e
nitrogen. 63

(D)  Nitrogen oxides disdolves in water to give nitric and nitrous acids and fall o:r.?.]and with rain.
(E)  Question not attcmpiéa (\1
Fresfa i & @ e e teea &7 ™
(A) IS e geRft 3 FpgHee 1 78% Wi s B

(B)  Sframysil & e Fo W & 3ifra e ot Aede ﬁtmﬁqﬁaﬁaﬂmﬁl

©) mmfﬁﬁ?ﬁaﬁmmﬁﬁﬁﬁaaﬁmﬁmwaﬁtmmémﬂm% irFaTget

ufEfda s E 8 ps Ty
(D) - RIS SHiFaTEE S vkt Tk St ez ST TR & et 35 wer Sy e oreet 2y
(E) 3mafauy P Oy
141 Whatis the percentage of Késervation for women in Panchayati Raj system in the SE%"F of Rajasthan? (Choose
the most appropriate optio%m below:) |
TSTET 9 & el O ﬁ%ﬁ%hmwmmﬁ (Pt 3 & wrardt 3o e )
(A) 50% ®) 33%
©) 40% D) 45%

vy
(E)  Question not attempted / ST Wy
What is the main obstacle‘ﬁ‘agxicultural development of Rajasthan?

(A)  Lack of land reforme? (B) Lack ofirrigation facilfités

142

90533

(©)  Limited availabilityof feriilizers (D) megulerity and uncenaﬁty of rains
(E)  Question not attempisd
T 3 i ferhrer 5 el e e v 2 )
(A) % gaw R I : ®) T glarsit = sy
(©) :-xa‘raﬁaﬁmﬁaaw-f%m (D) 9t < sifrafirear sk apfifar
() srwiE vy TS ' Q
143 In which of the following}yga: demonetisation of currency was declared by Indiﬂl%()vemment?
TR R Fr e 5 g & v 3 forggiaor s <y oty 4]
(A) 2016 N ®) 2017 0O
(C) 2018 ™ D) 2019 v

(E)  Question not attemptéd / 3Tt war
144 Which of the following is the largest tributary of Indus river?

(A) Ravi o (B) Chenab 2::
(C) Beas () (D)  Satlyj ol
(E)  Question not at!erﬂ.ljlbd g
ﬁw%ﬁmﬁ&ﬁgﬁﬁ??ﬂﬁwﬁﬁwm%? o
(A) Tt e\ (B) =T 0N
) = o\ (D)  WagH v
- U ™ [P.T.O:
] © 30
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145 Which of the following mountain ranges is associated with Himalayan Mountain range?
(A) Satpura (B) Ajanta

(C) Shivalik (D) Vindhya

(E) Question not attempted
frafafias & = o v swen faea vwda seen @ gafa 22

(A) WdgeT (B) st
(C) e (D) fememm
(E) a5
146 Karewa formation is useful for which of the following crop? (Choose the most appropriate option from
below?)
(A) Rice (B) Zafran
(C) Wheat (D) Tea

(E) Question not attempted

Far Fmtor frafafad § & frg woe F fagswd 22 (FreT 3 & W S foreeT )

(A) = (B)  STRUA/HET
© )
(E) Iuiay
147 sreguenTe wes i fafea et 8-
(B) FgARa A
148 e YIsK H Ih W ©-
A) o @B) T
© = o =
(B) AR A
149 Sreffae & <fir 3 ataar &
N o
.. S— d &
e qrd<h
3 e P B & v 3ag I < G
(A) Facla,be (B) e b, c e
© b, o ¥R (D) Ao, d e
(E) =iaiia 94
150 Trefafay & & fasr @ fadardes w7 -
UA) & ®)
(C) foamm= (D) T
(E) = GO
P12] ©) 31 [ PT.O.
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